
COPYRIGHT 2007 MORSE MFG. CO., INC. Form PL M5007W (Updated 10/2008)        Page 1

MORSE MFG. CO., INC.         •         727 West Manlius Street         •         P.O. Box 518         •         East Syracuse,  NY 13057-0518
Phone: 315-437-8475     •     Fax: 315-437-1029     •     Email: service@MORSEmfgco.com     •     Website: www.MORSEmfgco.com

PART # M5007W-P
PUMP POWER PACK FOR OPTION 115The Specialist In Drum Handling Equipment

PARTS LIST

ITEM QTY PART # DESCRIPTION

1 1 M00862-P VALVE, 400A-XX-115 ROUND ROUND
2 * 2 M00172-P HANDLE ASM, W/ BASE, MON
3 2 M01157-P BALL, PLASTIC, HANDLE, MON
4 2 M01326-P ROD, VALVE HANDLE, MON
5 2 M00173-P HANDLE BASE, MON
6 4 M07780-P WASHER, 5/16" SPECIAL, MON

7 * 2 M00018-P SPRING, TORSION, MON
8 2 M00016-P BUSHING, TORSION SPRING, MON
9 1 M03671-P KIT, ELECTRIC PARTS, M5007W
10 3 M00015-P SPRING, CONTACT FINGER M5007W
11 2 M07683-P SCREW, 10-32 X 1/4, M5007W
12 1 M01349-P STRAP, MOTOR SOLENOID, M5007W
13 1 M03336-P SWITCH, SOLENOID, M5007W
14 1 M01318-P ADAPTER, PUMP/ VALVE, 2-1/2"
15 1 M02650-P PUMP ASM, GEAR CODE 43, M5007W
16 1 M02352-P O-RING, 3-5/8 X 3-7/8 X 1/8
17 1 M00075-P KIT, MAIN CHECK VALVE PARTS
18 1 M02159-P SEAL, PUMP ASM, DC
19 1 M03766-P KIT, RELIEF VALVE PARTS, DC
20 1 M08111-P MOTOR, DC, 12V, 4.5", 1 TERM
21 1 M02318-P BEARING, BASE, MOTOR, DC
22 1 M07625-P NUT, 5/16-24 HEX, DC
23 1 M07781-P WASHER, 5/16" LOCK, DC
24 2 M07737-P WASHER, 1/4" STAR, DC
25 2 M07795-P WASHER, 1/4" LOCK, DC
26 2 M07738-P HHCS, 1/4-20 X 6-1/2 DC MON
27 1 M02238-P BRACKET, MOUNTING, DC MON
28 2 M07717-P SCREW, 1/4-20 X 1-3/8, DC
29 1 M01134-P FILTER SCREEN, SUCTION MON
30 1 M01209-P TUBE, FILTER SUCTION, DC
31 1 M01329-P ADAPTER, PUMP MOUNT, DC MON
32 1 M01274-P TUBE, RETURN, 1/8" NPT
33 1 M06899-P RESERVOIR, 6" DIA X 9" MON
34 1 M01143-P PLUG, BREATHER, FILLER MON
35 6 M07703-P SCREW, 10-24 X 3/8 TF
36 1 M01224-P ELBOW, RETURN TUBE, M404 MON
37 1 M01225-P ELBOW, RETURN, MON
38 1 M01303-P TUBE, RETURN, VALVE, M404 MON

* Recommended spare parts.



PARTS DIAGRAM

PART # M5007W-P
PUMP POWER PACK FOR OPTION 115The Specialist In Drum Handling Equipment

Website: www.MORSEmfgco.com
COPYRIGHT 2007 MORSE MFG. CO., INC. Form PL M5007W (Updated 10/2008)        Page 2


